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a

b

c

01

Dd0Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}

{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1

Dda1

Ddb1

Ddc1

KeyValue
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fghZ

x

ITE(left sub-trees)

Z

Left sub-tree of Z =
ITE(left subtree of f,
        tree rooted at g,
        left subtree of h)
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c

01

Dd0Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}

{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1

Dda1

Ddb1

Ddc1

KeyValue

a

ITE(Dda1->left child, Dd1, Ddc1)

Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)

TOP-VAR = a

= ITE(Dd0, Dd1, Ddc1)
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b

c

01

Dd0Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}

{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1

Dda1

Ddb1

Ddc1

KeyValue

a

Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)
TOP-VAR = a

ITE(Dd0, Dd1, Ddc1)
Top-var = c

ITE(Dd0, Dd1,
        Ddc1->left child)
= ITE(Dd0, Dd1,       )

ITE(Dd0, Dd1, Ddc1 -> right child)

Key = {        ,         ,        }
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Dd0Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}

{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1

Dda1

Ddb1

Ddc1

KeyValue

a

Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)
TOP-VAR = a

c

01

Ddc1
ITE(Dda1->right child, Dd1, Ddc1)
= ITE(Dd1, Dd1, Ddc1)
Top-var = c
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a

b

c

01

Dd0Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}

{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1

Dda1

Ddb1

Ddc1

KeyValue

a

Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)
TOP-VAR = a

c

0

Ddc1

1

ITE(Dd1, Dd1, Ddc1)
Top-var = c c

ITE(Dd1, Dd1, Ddc1->left child)
=ITE(Dd1, Dd1, Dd0)
=

ITE(Dd1, Dd1, Ddc1->right child)
= ITE(Dd1, Dd1, Dd1)
= 
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a

b

c

01

Dd0Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}

{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1

Dda1

Ddb1

Ddc1

KeyValue

a

c

0

Ddc1

1

c

11

Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)
TOP-VAR = a

01

Ddc1
c

a

Key:{           ,            ,           }
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01

Dd0Dd1

Dda1
Ddb1a

Ddc1

Dda2

b
Ddb2

func = func = 
func = 

func = f = 

func = g = 
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a

b

c

01

Ddc1

Ddb2

Dda3
f = (a + c) (b + c) <=> g = ab + c

Key(f) = {Ddc1, a, Ddb2}
Key(g) = {Ddc1, a, Ddb2}
Key(f) = Key(g) <=> f = g!
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a

b

c

d

f

g

e

y

u

v

w

0 1

a

bb

c

a=1

b=1

c=1

f = (u) (v) (w)
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Script started on Sun Sep  8 20:52:52 2002
[1]panda:examples>> vis

vis release 1.3 (compiled 8−Jun−02 at 8:01 PM)
vis> read_blif m10x10.blif
Warning: Some variables are unused in model X_MULTIPLY_OP0.
Warning: Some variables are unused in model X_MULTIPLY_OP2.
Warning: Some variables are unused in model X_MULTIPLY_OP5.
Warning: Some variables are unused in model X_MULTIPLY_OP8.
Warning: Some variables are unused in model X_MULTIPLY_OP11.
Warning: Some variables are unused in model X_MULTIPLY_OP14.
Warning: Some variables are unused in model X_MULTIPLY_OP17.
Warning: Some variables are unused in model X_MULTIPLY_OP20.
Warning: Some variables are unused in model X_MULTIPLY_OP23.
Warning: Some variables are unused in model X_ADD_OP3.
Warning: Some variables are unused in model X_ADD_OP6.
Warning: Some variables are unused in model X_ADD_OP9.
Warning: Some variables are unused in model X_ADD_OP12.
Warning: Some variables are unused in model X_ADD_OP15.
Warning: Some variables are unused in model X_ADD_OP18.
Warning: Some variables are unused in model X_ADD_OP21.
Warning: Some variables are unused in model X_ADD_OP24.
Warning: Some variables are unused in model X_ADD_OP26.
vis> 
vis> 
vis> 
vis> flatten_hierarchy
vis> static_order
vis> write_order
# vis release 1.3 (compiled 8−Jun−02 at 8:01 PM)
# network name: mpy2_temp_1
# generated: Sun Sep  8 20:53:28 2002
#
# name type            mddId vals levs
B_0  primary−input        0    2 (0)
A_8  primary−input        1    2 (1)
B_1  primary−input        2    2 (2)
A_7  primary−input        3    2 (3)
B_2  primary−input        4    2 (4)
A_6  primary−input        5    2 (5)
B_3  primary−input        6    2 (6)
A_5  primary−input        7    2 (7)
B_4  primary−input        8    2 (8)
A_4  primary−input        9    2 (9)
B_5  primary−input       10    2 (10)
A_3  primary−input       11    2 (11)
B_6  primary−input       12    2 (12)
A_2  primary−input       13    2 (13)
B_7  primary−input       14    2 (14)
A_1  primary−input       15    2 (15)
B_8  primary−input       16    2 (16)
A_9  primary−input       17    2 (17)
B_9  primary−input       18    2 (18)
A_0  primary−input       19    2 (19)
vis> 
vis> 
vis> build_partition_mdds inout
vis> 
vis> print_partition_stats
Method Inputs−Outputs, 20 sinks, 20 sources, 40 total vertices, 148442 mdd nodes
vis> 
vis> 
vis> 
vis> 
vis> 
vis> dynamic_var_ordering −f sift
Dynamic variable ordering forced with method sift....
vis> 
vis> 
vis> 
vis> print_partition_stats
Method Inputs−Outputs, 20 sinks, 20 sources, 40 total vertices, 85793 mdd nodes
vis> 
vis> 
vis> write_order
# vis release 1.3 (compiled 8−Jun−02 at 8:01 PM)
# network name: mpy2_temp_1
# generated: Sun Sep  8 20:54:47 2002
#
# name type            mddId vals levs
A_9  primary−input       17    2 (0)
B_0  primary−input        0    2 (1)
B_1  primary−input        2    2 (2)
A_8  primary−input        1    2 (3)
B_2  primary−input        4    2 (4)
A_7  primary−input        3    2 (5)
A_6  primary−input        5    2 (6)
B_5  primary−input       10    2 (7)
A_5  primary−input        7    2 (8)
B_4  primary−input        8    2 (9)
B_3  primary−input        6    2 (10)
A_4  primary−input        9    2 (11)
A_3  primary−input       11    2 (12)
B_6  primary−input       12    2 (13)
B_7  primary−input       14    2 (14)
B_8  primary−input       16    2 (15)
B_9  primary−input       18    2 (16)
A_0  primary−input       19    2 (17)
A_2  primary−input       13    2 (18)
A_1  primary−input       15    2 (19)
vis> quit
[2]panda:examples>> quit

quit: Command not found.
[3]panda:examples>> exit

Script done on Sun Sep  8 20:55:14 2002
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